%7 AARDWOLF

INDUSTRIES LLC

LIFTING CLAMP FOR ROUND BAR -BL200
Model: BL-200

Code Part Number Q'ty
BL200-01 | Hook 01
BL200-02 | Washer M10 14
BL200-03 | Nylon Nut M10 07
BL200-04 | Upper ARM 04
BL200-05 | Bushing @20x@11x5 | 02
BL200-06 | Lower ARM 02
BL200-07 | Bolt M6x20 02
BL200-08 | Lock Stop 01
BL200-09 | Right Jaw 02

10 |BL200-10 | Left Jaw 02
11 |BL200-11 | Bolt M10x50 05
12 |BL200-12 | Bolt M10x45 02
13 |BL200-13 |Locking 01
14 |BL200-14 |Limit stop 01
15 |BL200-15 |Bolt M10x70 01
16 |BL200-16 |Handknob M10 01




